Chapter 6 Solutions Manual Content
Chapter 6 Solutions Manual Content


Chapter 6: Applying Excel

The completed worksheet is shown below.
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Chapter 6: Applying Excel
3 Data
+ Seling price per unit 550

Variable manufacturing overhead 3
| Fixed manufacturing overhead per year $120,000
1 |Selling and administrative expenses:
12| Variable per unit sold s
| Fixed per year $70,000

Year1  Year2

6 Units in beginning inventory 0
17 Units produced during the year 10000 6000
|Units sold during the year 8000 8000

0 | Enter a formula into each of the cells marked with a ? below
|Review Problem 1: Contrasting Variable and Absorption Costing

|Compute the Ending Inventory
E Year1  Year2
Units in beginning inventory [ 2,000
26 Units produced during the year 10,000 6,000
Units sold during the year 8,000 8,000
Units in ending inventory 2,000 [

) Compute the Absorption Costing Unit Product Cost

| Year 1 Year2
Direct materials. s11 s11

Direct labor 6 6

Variable manufacturing overhead

Fixed manufacturing overhead

Absorption costing unit product cost

Year 1
les S 400,000
41 Cost of goods sold 256,000
Gross m 144,
Selling and administrative expenses 102.000
Net operating income 542000
46 Compute the Variable Costing Unit Product Cost
Year 1
Direct materials $11
| Direct labor 6
50 Variable manufacturing overhead
1 Variable costing unit product cost
| Construct the Variable Costing Income Statement
] Year 1 Year2
| Sal S 400,000 S 400,000
Variable expenses
| Variable cost of goods sold $ 160,000 $160,000
g and 32000 192000 32000 192,000
59 Contribution margin 208,000 208,000
|Fixed expenses:
|| Fixed manufacturing overhead 120,000 120,000
Fixed selling and 70,000 190.000 _ 70.000
W‘Ne( ‘operating income $_ 18,000
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Chapter 6: Applying Excel (continued)
The completed worksheet, with formulas displayed, is shown below.
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2

3 Data
4 [Selling price per unit
5 |Manufacturing costs
Variable per unit produced

PIEIE

Variable manufacturing overhead
10| Fixed manufacturing overhead per year
11 Selling and administrative expenses

12| Variable per unt sold

13| Fixed per year

1

15
16 |Units in beginning inventory
17 Units produced during the year
18 |Units sold during the year

19
20 | Enter a formula into each of the cells marked with a ? belc
21 Review Problem 1: Contrasting Variable and Absorpt

2
23 Compute the Ending Inventory
2

25 Units in beginning inventory
26 Units produced during the year
27 Units sold during the year

28 Units in ending inventory

2
30 Compute the Absorption Costing Unit Product Cost
31

32 Direct materials
33 Direct labor

34 Variable manufacturing overhead

35 Fixed manufacturing overhead

36 | Absorption costing unit product cost

37
38 Construct the Absorption Costing Income Statement
39

40 Sales
41 Cost of goods sold

42 Gross m

43 Selling and administrative expenses
44 Net operating income

a5
45 Compute the Variable Costing Unit Product Cost
a7

48 Direct materials.

49 Direct labor

50 Variable manufacturing overhead

51 Variable costing unit product cost

52
53 Construct the Variable Costing Income Statement
54

50
1
6
3
120000
4
70000

Year 1 Year2
0
10000 6000
8000 8000

Year 1 Year2
=B16 =B28
=B17 =17
=B18 =C18
=B25+B26.827 =C26+C26-C27

Year 1 Year2
=B7 =B7
=B8 =B8
=89 =89

10/817 =B

=B 10/C17.
=SUM(B32B35) =SUM(C32.C35

Year 1 Year2
=B4'B27
=B27'B36

=B4'C18
=IF(C26<C27.C26"C36+(C27-C26)'B36.C27°C36)

=B40-54 =C40-C41
=B12'B18+B13 _ =B12°C27+B13
=B42543 =C42.C43

Year2
=B7
=B8

=89 =89
=SUM(B48:850) =SUM(CA8.C50)

Year 1 Year2
55 Sales =B4B18 =Bacls
56 Variable expenses
57| Variable cost of goods sold =B51B18 =cs1Cis
58 g and xpe =B12'B18 =SUM(B57-858) =B12°C18_=SUM(D57-D58)
59 Contribution margin =Cs5-C58 =Es5E58
60 Fixed expenses:
61| Fixed manufacturing overhead =810 =810
62| Fixed selling and xper =813 =SUM(B61:862) =B13 _ =SUM(D61:D62)
=C59.C62 =E59.E62

63 Net operating income
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Note: This worksheet assumes that the beginning inventory in Year 1 is zero. If this were not true, the worksheet would have to be modified. Also note that the formula in Cell C41 contains an IF statement because of the LIFO inventory flow assumption that is used throughout the chapter.

Chapter 6: Applying Excel (continued)
1.
When the units sold in Year 2 are changed to 6,000, the result is:
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Data
1 Selling price per unit $50
6 | Variable per unit produced
Direct materials. s11
Direct labor
9| Variable manufacturing overhead 3
Fixed manufacturing overhead per year $120,000
11 Selling and administrative expenses:
12| Variable per unt sold 4
Fixed per year 570,000
Year1  Year2
16 |Units in beginning inventory [
17 Units produced during the year 10,000 6,000
Units sold during the year 8,000 6,000

) Enter a formula into each of the cells marked with a ? below
Review Problem 1: Contrasting Variable and Absorption Costing

Compute the Ending Inventory

E Year1  Year2
Units in beginning inventory [ 2,000

26 Units produced during the year 10,000 6,000
Units sold during the year 8,000 6,000
Units in ending inventory 2,000 2,000

) Compute the Absorption Costing Unit Product Cost

2 Direct materials $11 $11
 Direct labor 6 6
Variable manufacturing overhead

5 |Fixed manufacturing overhead
Absorption costing unit product cost

Sales. $ 400000 § 300,000
a1 Cost of goods sold 256,000
144,000
Selling and administrative expenses 102,000
Net operating income § 42000 5 (34.000)
46 Compute the Variable Costing Unit Product Cost
Year1  Year2
Direct materials. $11 s11
9 Direct labor 3 3
50 Variable manufacturing overhead
1 Variable costing unit product cost
53 Construct the Variable Costing Income Statement
Year 1 Year2
Sales S 400,000 S 300,000
56 Variable expenses
Variable cost of goods sold S 160,000 120,000
; g and 32000 192000 24000 144,000
59 Contribution margin 208,000 156,000
Fixed expenses:
61 Fixed manufacturing overhead 120,000 120,000
Fixed selling and 70,000 70,000

190,000
Net operating income 000)
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Chapter 6: Applying Excel (continued)


If the units produced equals the units sold, under the LIFO assumption, all of the fixed manufacturing overhead from Year 2 flows to the income statement under absorption costing. No fixed manufacturing overhead is released from or deferred in inventories. Therefore, absorption costing net operating income equals variable costing net operating income.

Chapter 6: Applying Excel (continued)
2.
With the changes in the data, the worksheet should look like this:
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Data
1 Selling price per unit §75
6 | Variable per unit produced
Direct materials. $12
Direct labor
9| Variable manufacturing overhead 57
Fixed manufacturing overhead per year 150,000
11 Selling and administrative expenses:
12| Variable per unt sold 51
Fixed per year $60.000
Year1  Year2
16 |Units in beginning inventory [
17 Units produced during the year 15000 10,000
Units sold during the year 12000 12,000
20 | Enter a formula into each of the cells marked with & ? below
Review Problem 1: Contrasting Variable and Absorption Costing
Compute the Ending Inventory
E Year1  Year2
Units in beginning inventory [ 3,000
26 Units produced during the year 15000 10,000
Units sold during the year 12000 12,000
Units in ending inventory 3,000 1,000
30 Compute the Absorption Costing Unit Product Cost
1] Year1  Year2
Direct materials. $12 $12
3 Direct labor 5 5
4 Variable manufacturing overhead i
5 Fixed manufacturing overhead 15
36 Absorption costing unit product cost 539
38 Construct the Absorption Costing Income Statement
Year1  Year2
Sales. $ 900000 § 900,000
a1 Cost of goods sold 408,000 458,000
432,000 442,000
Selling and administrative expenses 72000 72000
Net operating income S 420,000 370,000
46 Compute the Variable Costing Unit Product Cost
Year1  Year2
Direct materials. $12 512
9 Direct labor 5 5
50 Variable manufacturing overhead 7 7
1 Variable costing unit product cost 524 524
53 Construct the Variable Costing Income Statement
Year 1 Year2
Sales S 900,000 S 900,000
56 Variable expenses
Variable cost of goods sold S 288,000 5288.000
; g and 12000 300000 12000 300,000
59 Contribution margin 600,000 600,000
Fixed expenses:
61 Fixed manufacturing overhead 150,000 150,000
Fixed selling and 60,000 60000 210,000
Net operating income 000
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Chapter 6: Applying Excel (continued)


The variable costing net operating income is the same in Year 1 and Year 2 because the sales are the same in the two years—12,000 units. Absorption costing net operating income exceeds variable costing net operating income in Year 1 because production exceeded sales and fixed manufacturing overhead was deferred in inventories under absorption costing. Absorption costing net operating income is less than variable costing net operating income in Year 2 because sales exceeded production and fixed manufacturing overhead was released from inventories under absorption costing.

Chapter 6: Applying Excel (continued)

3.
With the increase in units produced in Year 2, the result is:
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; Data
1 Selling price per unit §75
6 | Variable per unit produced
7| Direct materials $12
Direct labor
9| Variable manufacturing overhead 57
Fixed manufacturing overhead per year 150,000
11 Selling and administrative expenses:
/arizble per unit sold 51
Fixed per year $60.000
Year1  Year2
16  Units in beginning inventory. [
17 Units produced during the year 15000 50,000
Units sold during the year 12000 12,000
20  Enter a formula into each of the cells marked with a ? below
21 Review Problem 1: Contrasting Variable and Absorption Costing
Compute the Ending Inventory
24| Year1  Year2
Units in beginning inventory [ 3,000
26 Units produced during the year 15000 50,000
Units sold during the year 12000 12,000
Units in ending inventory 3000 41,000
30 Compute the Absorption Costing Unit Product Cost
1] Year 1
Direct materials. $12
3 Direct labor 5
4 Variable manufacturing overhead
5 Fixed manufacturing overhead
36 Absorption costing unit product cost
38 Construct the Absorption Costing Income Statement
3 Year1  Year2
Sales. $ 900000 § 900,000
a1 Cost of goods sold 408,000 324.000
432,000 576,000
Selling and administrative expenses 2, 72,000
Net operating income S 420,000 504,000
46 Compute the Variable Costing Unit Product Cost
Year1  Year2
Direct materials. $12 512
9 Direct labor 5 5
50 Variable manufacturing overhead 7 7
1 Variable costing unit product cost 524 524
53 Construct the Variable Costing Income Statement
Year 1 Year2
5 Sales S 900,000 S 900,000
56 Variable expenses:
Variable cost of goods sold S 288,000 5288.000
; g and 12000 300000 12000 300,000
59 Contribution margin 600,000 600,000
Fixed expenses:
61 Fixed manufacturing overhead 150,000 150,000
Fixed selling and 60000 210000 60000 210,000
Net operating income S 390,000 000
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Chapter 6: Applying Excel (continued)


Increasing the production in Year 2 to 50,000 units while keeping everything else the same—including the unit sales—would result in absorption costing net operating income of $504,000 and payment of the bonus. However, it would also result in huge ending inventories that exceed the normal sales by several times. These huge inventories are likely to increase storage and other costs. Furthermore, if sales remain constant and management attempts to reduce inventories in the next year, the result will be a precipitous decline in the absorption costing net operating income in Year 3. To reduce inventories, management would have to produce less that it sells. This would result in absorption costing net operating income falling below $390,000—the net operating income that would be realized under variable costing.
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